X271 77"7 'O X,XD Mano .7"02

= N7 TINRT IR 72N R0 921 RO
Here too let us say, picking up is necessary for carrying out

Overview

72X " ruled that 77°pY 1s 7137 78 and therefore if one threw an arrow mnX 7, and it
ripped °X7°w while moving, one is not liable because the 111 21°17 is simultaneous
with the 7n°» 211 for naw. »°ax 92 °2°2 27 challenged this from a Xn*72 which ruled
that if one stole a wallet on n2w (he took it out of the house into the 1"77), he is 21
to pay, for the 12°33 211 preceded the 7%°P0 Mo°X of Naw. The question is that here
too we should say RX17 771% 77237 (Just like we said 7737 7% 77°pY). Our NMooIN
clarifies this challenge.
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There is no challenge at all against "1 according to the (second) version that we
say 7M1 7MX 77°pY only in a case where if the person, who was violating the naw,

would want to retrieve it, he could not retrieve it, since in the case of the Xn»13, he is
able to stop the M0O*X of IRXI, by not going out into the 1", therefore we do not say 77X 177237

7na (as opposed to the case of &"1 where he cannot retrieve the arrow from landing nwaX 72 yn) -
= 123N NXJ2 NNINY TYAN N 233 XINT 7999 N9PY XU NNINY TN INT NIwrHY DaN

However the challenge is according to the (first) version that we say 7% 77°py
7m0 in a case where it is impossible to have a M (and naw 21°17) without a
preceding 719y, so here too it is impossible to have a 1"772 M7 and a naw 210

without the 777257, therefore we should say that 7737 7% 77237 and he should be Mo for the
72°13, just like by o™ w vp —

nooIn responds to an anticipated difficulty:?
= 309NN NPY 1199 1T NIPY SV 45 N33 HIWANT 2) DY 9N

! The X7n3 previously reconciled the ruling of X" (that 7377 T 77°py) with the ruling of X70n1 27 (regarding 12571 2173)
in two versions. One version was that by 2717 the 7377237 is not 72°9X 7%, since 2°2X) 113 *va °X; the other version was
that we only say m371 77X 7Py where he cannot stop it (like in the case of &', where he threw the arrow), however
in the case of 1" even after he picked it up, he could have not eaten the 251.

2 Previously the X3 explained the reason why by 1251 210 he is 21 and we do not say 777°9% TM% 777237 (as we say
N3 7MY 77°pY) because regarding the sinn 2vn of 291 there is no need for 771237 (he can be 9°2x1 1), therefore the
771237 is not 72°98 TMX and he is 21 for the 72213 which took place 772377 nywa. Seemingly here too (by 03 21x71) he
should be 2>°11 for 7277 NYW2 12713, since this 7727 is not 7n17 7K, for he could be 2717 on 7R¥YT without 77237, but
with 77°33. The question is why does 7°2X1 113 remove the 77237 from 79°9% 7%, and 7773 does not remove the 772371
from nman X,

3 The answer seems to be that regarding 72°2X there is no need for 7171237, it is not part of 79°2X at all, and furthermore
the 1> MoK begins only when he eats the 2%, not when he picked it up; however here we need an 77°py; it is an
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Even though it is possible to violate the n2w =110°X by dragging it instead of 7777237,
so how can we say 7AXXWT 70X 77237 since there can be XX without 77237,

nevertheless this 795pw of 7771 is the same [to me] like another 793pY of ma237 -
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For nonetheless the 919°R of XX177 begins from when he picked it up -
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Since if someone else made the 579%py, the 213 would not be 2%°7 for just doing the

7137 alone, which proves that we require an 77°p¥ which in this case is the 77237 -
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It comes out that the 79°5PY causes the 217 and this 2y°17 extends until the time of

the 37, therefore the 72°13 nwyn which occurs within this time frame is considered as being
done together with the naw 21°n, therefore he is Mw>.

Summary
The question on X" is only according to the version that 7r17 771% 77°py. The 211 of

R¥YT begins with the 77°pY and continues until the 7717.

Thinking it over

1. Why was it necessary for 900 to bring a proof that 17°77 X 7Py W KR 797 OX
am1m2 2»nnn; this is something obvious, N1901N does need to tell us this, and how
does this solve the issue raised® in the n"n7?

2. Is 7Py merely a o3 for the N2w 21m, or is it an integral part of the XX MO°K?

3. How can we explain the "7 and the X1pon where n19010 asks,’ 77°732 TWORT 3"VX,
and answers NR TVPY 13 W T1PY 27 737

integral part of the X7 0K, regardless if it is the 777y of 77773 or of 772a7. In this case the 771°py was through the
7127, Therefore the naw Mo°k began at the time of the 7772a7; the 213 should therefore be 75, since he already began
the naw 71o°k together with the 772°13 MO°XR. See ‘Thinking it over’ # 3.
4 Mmoo may be responding to a difficulty. For we can distinguish between 7773 and 77237; by 7713 the naw Mox
begins at the point where the item crosses the line between the *"771 and the 1" therefore there is a n"2%p; however
by 17237 how did the naw MoK start, he can always put it down; why do we say that the M0°X begins with the 777237
there was no imminent 7X¥17 yet? See ‘Thinking it over’ # 1.
5 See ‘Thinking it over® # 2.
¢ See footnote # 4.
7 See footnote # 3.
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